Do NOT use a calculator!
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Nice and easy ,ﬁgﬂe

72

72 + 2 =136

36 -+ 2=18

18 + 3 =21

21+7=3

3X25=75

75 —3=72

72 +12=06

6 X20 =120

120 = 4 =130

Answer = 30

Bit more to it

Challenging

19

67

19 x 20 = 380

67 + 33 = 100

380 -8 =372

100 X 100 =
10,000

372 + 6 =62

(7/100) x 10,100 =
700

62 —5=757

(2/3)x57 =238

0.2 X 700 = 140
700 — 140 = 560

38 +4 =42

0.625 x 560 = 350

(5/14) x 42 = 15

0.2 X 350 = 70
350 — 70 = 280

15 X 15 = 225

(11/14) x 280 =
220

225 — 126 = 99

0.2 X 220 = 44
220 — 44 =176

Answer = 99

(3/11) x 176 = 48
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Answer = 48




